Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300001 Date: 30 - 05-2015
Subject Name: BASIC MATHEMATICS
Time: 02:30 PM TO 04:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. Question Text and Option. U#& uA (sl
log, 8 =
. A 3 B. 2
C. 1 D. O
log, 8=
®”LA 3 B. 2
C 1 D. O
log,a=
2. A O B. 1
C. a D. None of these
log,a=
R. AL O B. 1
C. a D. As ULl o8l
logx® =
3. A log,x B. log2x
C.  (logx)’ D. 2logx
logx® =
3. A log,x B. log2x
C.  (logx)’ D. 2logx
log,(log, 8) =
4. A. 3 B. O
C. 1 D. 2
log,(log,8)=_
¥. A 3 B. O
C. 1 D.
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10.

10.

—_

[SRR )

A1
c. 2
3
log, yxlog, x=
A1
C. O
log, yxlog, x=
A1
C. O

If log,a=2 then a=

A 1

C. 2

o8l log,a=2 Al a-____

A 1

C. 2

3oz 2

A. 3

C. 2

3lozs2

A. 3

C. 2

If log, 0.01=-2then a-______
A. 100

C. 1

%\ log, 0.01=-2 Al a=____
A. 100

C. 1

If log x + log(x-1)=log2 then x=

A3
C. O

%l log x + log(x-1)=log2 A x=____

lo 2 +1lo E +1lo é =
g 3 g 5 g 4 ) ——
A
C.
2 6 5
log| = [+1log| — [+1og| — |=
g@ g(sj g@ —

(log, y)*
(log, x)°

(log, y)*
(log, x)°

10
0.01

10
0.01
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1.

9.

12.

.

13.

3.

14.

.

A. 3
C. O
1 0 2
2 1 —1=
1 1 3
A. 6
C. 7
1 0 2
2 1 -1=
1 1 3
A. 6
C. 7
X
If ‘:6 then x=
4
6
C. 9
3
A I ‘:6 QA x
2
A. 6
C. 9
sind cos@ B
—cos@ sin@|
A. cosf
C. sin¢
sind cosd B
—cos@ sin|
A. cosf
C. sinf
a 2 1
If {1 2 1/=0 then a=
3 8 2
A. 2
C. 1
a 2 1
N1 2 1=0 A a=
3 8 2
A. 2

10
12

10
12
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15.

Q.

16.

6.

17.

9.

18.

.

C. 1

2 1 3
Order of matrix is
4 3 7

A, 3X2

A. 3X2
C. 6
2 3 1 2
+ =
1 4 4 3
A. 3 5
5 7
C. 3 7
7 5
2 3 1 2
—|— =
1 4 4 3
A. 3 5
5 7
C. 3 7
75
3
If 4= then A=
2 4
A. 1 3
2 4
C 1 2
3 4
1 3
o 4= Al A=
2 4

2 X3
2 X2

2 X3
2 X2
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19.

c.

20.

0.

21.

1.

22.

2.

23.

R3.

A1

C. 5

If AB=BA=I then B=______
A. B

C. A

%l AB=BA=l l B=_____
A. B

C. A

For matrix A, Al=

A, A
c. I
Als A 2, Al
A, A
c. I

If order of A and B are 2X3 and 3X2 then order of AB is

A, 3X3
C. 2X3

B. 2

D. 4
I

D. A
I

D. A

B A’

D. |

B. A

D. |

B. 2X2
D. 3X2

A 3ol B oll HIS 2X3 Wal 3X2 l AB oll 5HiS

A.  3X3

C. 2X3

Matrix A=[ 2 3 4] is called
A. Square

C. Raw

AQs A=[2 3 4]a
A ARYU

C. @&R

If A=[1 3 2]and B=[2 -1

A. [2 -3 2]

Cc. [3]

ol A=[1 3 2] ual B=[2
A. [2 -3 2]

c. [3]

B. 2X2
D. 3X2
matrix

B. Column

D.  Unit
Qs & B.

B. det

D. AsH

1] then AB'=

B. [5]

D. [1]

1] L AB'=

B. [5]

D. [1]

5/15



24.

RY¥.

25.

QY.

26.

26.

27.

V.

28.

3 7

A. -1 3
A

C. 7 2
G

R A:F 2} QA -

3 7

A. -1 3
.

C. 7 2
o

If A={2 } then A°=
3 —

A. 4 1
{9 1

C. 5 5
5 10

If A=[2 4],B=[1 3
A, [4 -2]

c. [4 2]

ol A=[2 4], B=[1
A, [4 -2]

C. [4 2]

10

{0 1} is called

A.  Null

C. Unit

b 1)

A Yot

C. UsH
(A+B)"=

A. A+B

] and C=[3

3] ol C=[3

matrix

Als sd V.

-1] then 2A-3B+C=

D.

D.

i

[3 7]
[5 -2]
11 Al 2A-3B+C=___
[3 7]
[5 -2]
Inverse

None of these

SIS
As ULl ol@

A"+B
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RC.

29.

RC.

30.

30.

31.

34.

32.

3R.

33.

33.

C. A+BT

(A+B)"=

A. A+B
C. A+BT
tan(45° )=
A. O

C. 2
tan(45° )=
A. O

c. 2
sin” @ +cos’ 0 =
A cos20
C. 1

sin? @+ cos* 0 =

A. cos 26
C. 1

Period of siné is

A. 2Tn
c. T

sin@ of WMot

A. 2
c. T
270° = radian
A. 3®n
c. 3
270° = 2A3aet
A. 3®n
c. 3
2
sin(7 —0) =
A. cos@
C. —sin @
sin(r —0) =
A. cos @
C. —sin @

AT+BT

A"+B
AT+B'

—cos @

sin @

—cos @

sin @
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34.

3%.

35.

34.

36.

36.

37.

39.

38.

3¢.

39.

tan(225° )=

A 1
C. O
tan(225°)=__
A 1
C. O

sin’ 60° +sin” 30°
A. %
C. 1

sin’ 60° +sin” 30°

A %
C. 1
cos(a+ pf) =

A.  cosacos B +sinasin B
C.  cosasin B-sinacos

cos(a+ pf) =

A.  cosacos B +sinasin B
C.  cosasin B—sinacos
sin20 =

A- 2sinfcosd

C. sin’@-cos’ @
sin20 =

A. 2sinfcosd
C.  sin’@—cos’@
cos’ 15" —sin” 15" =

A1

c. |

NG

cos’15° —sin’15°

A1

c. |

V2
sin75° +sinl5° =
A. 1

C. 3
2

o

cosa cos f—sinasin

cosasin f+sina cos S

cosa cos f—sinasin

cosa sin S +sina cos ff

sin @ cos @

cos” @—sin’ @

sin @ cos

cos’> @ —sin’ @

1
2
v3

2

N‘&l'\)l'—

o |G ©
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3¢C.

40.

¥0.

41.

¥9.

42.

¥R.

43.

¥3.

44.

sin75° +sinl5° =

A. 1
C. i
2
cos ' x+sin” x =
A T
4
c. 7~
6
cos ' x+sin” x =
A T
4
c. ~
6
1 o1
tan —+tan —=
2 3
A T
2
C. ,

o1 o1
tan —+tan —=
A T

2
C. ,
For AABC sin(A+B)=
A. sinC
C. -sinC
AABCHIS sin(A+B)=
A. sinC
C. -sinC

sin(a + ) +sin(a — f) =

A.  2cosasinf
C. 2sinacosf

sin(a + f) +sin(a — f) =

A.  2cosasin
C. 2sinacosf

Graph of y=cosx passes through
A.  (0,0)
C. (45,1)

o

oG ©

NN

N

NN

B

RN NI BN

RN NI BN

cosC

-cosC

cosC

-cosC

2cosacos fB

2sinasin B

2cosacos B
2sinasin B

point.
(30,0.5)
(0,1)
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Y.

45.

¥4,

46.

¥S.

47.

¥9.

48.

¥C.

49.

\

¥C.

y=COosX ol WAW
A. (0,0)
C. (45,1)

If sin0=%then cosf=

A 3
5
c. 1
5
A\ sin O = % Al cosf=
A 3
5
c. 1
5
tan(z—ﬁJ =
2
A. -coté
C. tanf
tan(z—ﬁJ =
2
A. -coté
C. tan#
| 2i-j+2k| =
A. 9
C. 5
| 2i-j+2k| =
A. 9
C. 5

Qo HLell waR L B.

B.
D.

If x=(2,3,1)and y=(1,2,1)then x+y =

(30,0.5)
(0,1)

(VR NV RN

(NN RN )

cotd

- tanf

cotd

- tand

(3,5,2)
(2,5,2)

(3,5,2)
(2,5,2)

1/5,2/5,2/5
~1/5,-2/5,-2/5

A (3,2,5) B.

C. (2,5,3) D.

o x=23)AA y=(1.2,) Al x+y=_
A (3,2,5) B.

C. (2,5,3) D.
Direction cosine of (1,2,2) is

A 1/3,2/3,2/3 B.

C. -1/3,-2/3,-2/3 D.
(1,2,2) oll (&5 Sl 8.
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50.

Yo.

51.

uq.

52.

uR.

53.

us3.

54.

uy.

55.

A 1/3,2/3,2/3 B. 1/5,2/5,2/5

C. -1/3,-2/3,-2/3 D.  —1/5,-2/5,-2/5

If (a,2,-3) and (1,2,2) are perpendicular to each other then a=_____
A1 B. 2

C. -1 D. O

% (a,2,-3) U (1,2,2) As olotal WRAUR clot Sl Al a=___

A1 B. 2
C. -1 D. O
If [a|=1then @is called vector
A.  Null B. Perpendicular
C. Unit D. None of these
A ja=1 Al @ ulta 58 B.
A, Yol B. du
C. AUsH D. As uQl o3,
If @and b are parallel to each other then axb=__
A. O B.  Unit vector
cC. 1 D.  Null vector
ol gual bAs ollstal UHIAR A A axb=
A. 0O B. sy ultal
C. 1 D. 9o uleal
(x> y)ly =
A. 0O B.  (yxyy)
C 1 D (xxyy)
(x> y)y =
A. 0O B.  (yxyp)
C 1 D (xxyy)
If a=(2,3,1) and b =(4,—-1,2)then alb=_
A. 13 B. 6
cC. 7 D. 9
o a=(231) A b=4-1.2)Adl ab=_
A. 13 B. 6
cC. 7 D. 9
is perpendicular to a and b both

a+b B- @b

C. axp D. @b
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uy,

56.

us.

57.

.

58.

uc.

59.

60.

SO.

W g b ARl G B,

A a+b a-b
C. axb D. ap
%K =

A 5 B.
C. |x| D

%K =

A 5 B.
C. x| D.

If angle between @ =(1,1,2) and b =(2,1,1) is & then cosé -

A 16 B. 5/\/6
C. /6 D. 1

Bl a=(1,1,2) AU b =(2,1,1) AR ol YR 4 &a A cosh -
A 1/6 B. 5/\/3
C. 5/6 D. 1

If (2,3,1)=(a,b+1,c-1) then (a,b,c)=

A.  (2,4,0) B. (2,2,2)
c. (2,1,-1) D. (2,4,-2)
% (2,3,1)=(a,b+1,c-1) cl (a,b,c)=

A.  (2,4,0) B. (2,2,2)
c. (2,1,-1) D. (2,4,-2)

If @=(1,2,3) and b =(3,4,6) then [2a—b|=__

A -1 B. 2

C. O D. 1

A a=(1,23) v b=(3.4,6) A [2a-b|=____

A -1 B. 2

C. O D. 1

Due to the effect of force (2,3,-1) a particle moves from (1,1,1) to
(2,2,2). Find work done.

A. 3 B. 2

C. 4 D. 5

Wl (2,3,-1) ol 2R st (1,1,1) Al (2,2,2) Yl RUAAD A a2 A

UAA sl 2.
A 3 B. 2
C. 4 D. 5
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61.

SAq.

62.

SR.

63.

S3.

64.

S¥.

65.

S\U.

Area of rectangle is 48m°. If the length is 12m then width is
A 3 B. 4
C. 6 D. 8

AUARY of AN 48m? B. B Aolle 12m &l Al Usloues m.

(I}

A. 3 B. 4

C. 6 D. 8

Area of circle with diameter d is

A, nd’ B. xd’
4 2

C. ra D. 274

‘d RUY dlol ddie] AAsa 9,

A nd’ B. xd’
4 2

C.  za D. 274

Area of circle made from 22m long rope is

A. 385 B. 77

C. 36 D. 355

22m dioll ERsLEl sacll adng Axsa B,

A. 385 B. 77

C. 36 D. 355

square tiles of length 10cm is required to cover floor of

300cmX200cm.

A. 200 B. 300

C. 60 D. 600

300cmX200cm. HiUell elladlian A aisal 10 doweSoll
2l S,

A. 200 B. 300

C. 60 D. 600

AU

What is the cost of fencing the circular garden of radius 35m if cost of

fencing is Rs. 10 per meter?
A. 2200 B. 220
C. 350 D. 2000

ol clls scllall WL 3.10 Yl l2? &lat Al 35m Bl alat adousiz

GPlAUL A als scloll W2 Fecl ula?
A. 2200 B. 220



66.

SS.

67.

SO.

68.

SC.

69.

Sc.

70.

90.

C.

350

D.

Surface area of sphere of radius ‘' is

A.
C.

A.
C.

4rr B.
drr? D.
‘v Bl alon olessll %{Llléle Yo 50
4rr B.
drr? D.

Curved surface area of cone having radius 5cm and slant height 7cm is

5em (AUl Wl 7em s GUAE clou 2ige] asuwdle] Axsn

A. 112 cm?
C. 188.5 ¢
R

A. 112 cm?
C. 188.5 ¢

B.

m? D.

B.

m? D.

2000

2
nr

27r

2
nr

2
27r

142 cm?®

110 cm?

142 cm?®

110 cm?

Volume of cylinder of radius ‘r' and height ‘h’ is

A.
C.

2
wr-h

2xrh

B.
D.

27 h

rh?

‘Y AU AU GUY AW OISR UASOL

A
C. 2zrh
For cuboid
A. 12 cm’
C. 28cm’

Aoltdol U2 1=4cm, b=3cm Wal h=2cm dl Ao Ustsn
A.
C.

If the ratio of radius of two cylinder of same height is 2:3 then ratio of

12 cm’®

28 cm’®

B.
D.
I=4cm, b=3cm and h=2cm then its volume is _____
B.
D.

B.
D.

their volume is

A 49 B. 2:3

C. 8:9 D. 8:27

%l Gl AHlel GAUE clloll slouslRell Aaaulell 9JBlldR 2:3 dlat Al
Allell Yatgnatl R0 dR 8.

A 49 B. 2:3

27 h

rh?

22 cm?

24cm?

22 cm?

24cm?
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8:9

D. 8:27

sk e sk sk sk sfeoske sk sk ks skok
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